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All Candidates' performance across questions

Question Title N Mean SD Max Mark FF Attempt %
la 6701 0.8 0.4 1 77.1 96.4
1b 6841 0.8 0.4 1 79 98.5
1c 4113 0.3 0.4 1 25 59.2
1d 6636 0.7 0.5 1 66.2 95.5
le 6724 0.9 0.3 1 86.1 96.8
2a 6899 0.3 0.5 1 34.1 99.3
2b 6889 0.4 0.5 1 40.3 99.1
3 6477 0.7 0.5 1 70.1 93.2
4a 6425 0.5 0.5 1 49.6 92.5
4b 5352 0.3 0.5 1 32.6 77
5a 6704 0.4 0.5 1 43.3 96.5
5b 6662 0.3 0.5 1 34.8 95.9
6 5196 0.6 0.9 3 21 74.8
7a 6169 0.2 0.4 1 20.1 88.8
7bi 4368 0.4 0.5 1 40.5 62.9

7bii 5925 0.7 0.5 1 71.7 85.3
7c 4254 0.4 0.5 1 41.7 61.2
8 4999 0.5 0.8 3 16.3 71.9
9 6251 0.6 0.8 2 28.6 90
10 5459 1.8 1.7 5 35.1 78.6
11 6437 1.1 0.9 3 35.5 92.6

12a 6160 0.8 0.8 2 394 88.7

12b 4796 0.4 0.5 1 44 69

12c 5430 0.3 0.5 1 30.7 78.1
13 5196 0.7 0.8 3 22.4 74.8
14 5411 0.6 1.2 4 15 77.9

15a 4561 0.4 0.8 2 19.7 65.6

15b 3752 0.5 0.8 2 24.2 54

16a 5592 0.5 0.8 2 25.4 80.5

16b 5411 0.1 0.2 1 6.6 77.9
17 4498 0.2 0.6 3 5.2 64.7
18 4944 0.6 1 4 14.2 71.2
19 4864 0.4 0.7 3 13.5 70
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Calculate one fifth of 335.
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Sticky Note

Q1(c) Many candidates did not understand that to find one fifth of 335, they needed to divide 335 by 5.
This candidate subtracted 5 so B0.










(c) Calculate one fifth of 335.
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Sticky Note

Q1(c) This candidate knew that division was needed but wrongly divided by 1.5. So B0.
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Sticky Note

Q1(c) This candidate wrongly multiplied by 5. So B0.
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(c) Calculate one fifth of 335. [1]
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The shape above has been drawn on a square grid.
Each square represents an area of 5cm2,

Estimate the total area of the shape.

You must show all your working.
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6. (Diameter of the larger circle=) 4 x 7-5 (cm) M1 | May be seen in parts.
=30 (cm) Al
Accuracy of Writing W1 | For W1, candidates will be expected to:

Show all their working which must be in correct
mathematical form
Include units in the answer

show all their working

make few, if any, errors in spelling, punctuation
and grammar

use correct mathematical form in their working
use appropriate terminology, units, etc.
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Sticky Note

Q6 Many candidates added the radii of the two smaller circles, instead of their diameters.  The required calculation was 4 x 7.5 = 30 cm or 15 + 15 = 30 cm. So this answer was awarded M0A0. 
To gain the  Accuracy of Working mark, the answer must be written in correct mathematical form , which this answer is, and include correct units (cm) in the final answer. This shows the wrong units, so W0.
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Sticky Note

Q6 This answer is wrong so M0 A0. However, W1 is awarded as both the mathematical form and the units are correct. So W1.
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Each square represents an area of 5emZ.
Estimate the total area of the shape.
You must show all your working.
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Sticky Note

This answer would have been awarded full marks if 38 x 5 had been calculated correctly. W1 is awarded for both stating the calculation correctly and including the units of area. M1 A1 B0 W1
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6. In this question, you will be assessed on the quality of your accuracy in writing. o

Two identical small circles fit in a larger circle, as shown below.
AB is a straight line passing through the centres of all three circles.
The radius of each of the small circles is 7-5cm.
Calculate the length of the diameter of the large circle.
You must show all your working. [2+1W]
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. A sack contains 5-4 kg of potatoes.
A second sack contains 3:08 kg of potatoes.
A third sack contains 2-2Ib (pounds) of potatoes.

Calculate the total mass of these potatoes.
Give your answer in kilograms. -
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8. A sack contains 5-4 kg of potatoes.
A second sack contains 3:08kg of potatoes.
A third sack contains 2-2Ib (pounds) of potatoes.

Calculate the total mass of these potatoes.

Give your answer in kilograms. [3]
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A sack contains 5-4kg of potatoes.
A second sack contains 3-:08kg of potatoes.
A third sack contains 2:21b (pounds) of potatoes.

Calculate the total mass of these potatoes.
Give your answer in kilograms. [3]
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8.(2.2lb=)1 (kg) Bl
9.48 (kg) B2 B1 for sight of 5.4 + 3.08 + 1 OR
B1 for 5.4 + 3.08 + 'their 1' evaluated accurately OR
B1 for an answer of 10.68
B3 for answer alone of 9:48 (kg)










. A sack contains 5-4 kg of potatoes.
A second sack contains 3:08 kg of potatoes.
A third sack contains 2-2Ib (pounds) of potatoes.
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Sticky Note

Q8 Many candidates did not know the correct conversion 2.2. lb = 1 kg. This was awarded B1 if seen, but here B0 was awarded.
A further B1 was awarded if three quantities were added correctly. Here, the candidate wrongly added the final digits together irrespective of their position in each number. This answer gained B0 B0 B0.












8. A sack contains 5-4 kg of potatoes.
A second sack contains 3:08kg of potatoes.
A third sack contains 2-2Ib (pounds) of potatoes.

Calculate the total mass of these potatoes.

Give your answer in kilograms. [3]
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Sticky Note

Q8 This candidate thought that 1 kg is the same as 1000 lb. So B0 for the wrong conversion. 
The three quantities were added correctly, so B1. However, the final answer was not the correct answer for the whole question, so B0.
Final mark is B0 B1 B0.










A sack contains 5-4kg of potatoes.
A second sack contains 3-:08kg of potatoes.
A third sack contains 2:21b (pounds) of potatoes.

Calculate the total mass of these potatoes.
Give your answer in kilograms. [3]
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Sticky Note

Q8 Many candidates ignored the 0 in 3.08, wrongly adding 3.8 as this candidate has done.  So B0.
There was no conversion from pounds to kilograms, so B0.
The final answer was not 9.48 kg so B0.
This answer was awarded B0 B0 B0.










Examiner
only

8. A sack contains 5-4 kg of potatoes.

A second sack contains 3-08 kg of potatoes.
A third sack contains 2-21b (pounds) of potatoes.

Calculate the total mass of these potatoes.
Give your answer in kilograms. [3]
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11. Raji chooses one number at random from this list of numbers.
2, 4 6, 8 10, 12, 14, 16, 18, 20
On the probability scale below, mark the points A, B and C where:

e Ais the probability of Raji choosing an even number
* B is the probability of Raji choosing a number greater than 8

e Cis the probability of Raji choosing a square number. [3]
| | | | | | | | | |
I 1 1 1 1 I 1 1 1 1 I
0 1

10
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10. In this question, you will be assessed on the quality of your organisation and communication.
A bucket can hold 4000 ml of water.
A jug can hold 25 litres of water.
An empty tank has a capacity of 17 litres.
The tank is filled to the top using a combination of full buckets and full jugs of water.

How many full buckets and full jugs must be used to fill the tank exactly?
You must show all your working. [4+10C]

Examiner
only
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(c) Calculate one fifth of 335. 0]




Sticky Note

Q1(c) This candidate showed good understanding that 'one fifth of' 335' means that 335 must be multiplied by 1/5; i.e. multiplied by 1 and divided by 5. More steps in the calculation were written down than were necessary but the correct answer of 67 gained B1.
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10. In this question, you will-l be assessed on the quality of your organisation and communication.
A bucket can hold 4000 mi of water.
A jug can hold 25 litres of water.
An empty tank has a capacity of 17 litres.
The tank is filled to the top using a combination of full buckets and full jugs of water.

How many full buckets and full jugs must be used to fill the tank exactly?
You must show all your working. [4 +10C]
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10. In this question, you will be assessed on the quality of your organisation and communication.

A bucket can hold 4000 mi of water.
A jug can hold 25 litres of water.
An empty tank has a capacity of 17 litres.

The tank is filled to the top using a combination of full buckets and full jugs of water.

How many full buckets and full jugs must be used to fill the tank exactly?
You must show all your working. [4 +10C]
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Sticky Note

Q10 This fully correct answer was awarded B1 S2 B1.
However, the steps of the calculation do not have labels to describe each strategy. So the Organisation and Communication mark was OC0.










A bucket can hold 4000 ml of water.
A jug can hold 2°5 litres of water.
An empty tank has a capacity of 17 litres.

The tank is filled to the top using a combination of full buckets and full jugs of water.
How many full buckets and full jugs must be used to fill the tank exactly?
You must show all your working. [4+10C)
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A bucket can hold 4000 ml of water.
A jug can hold 2°5 litres of water.
An empty tank has a capacity of 17 litres.

The tank is filled to the top using a combination of full buckets and full jugs of water.
How many full buckets and full jugs must be used to fill the tank exactly?
You must show all your working. [4+10C)
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Sticky Note

Q10 This answer shows more calculation steps than the previous one but these still do not have enough labels like:
 Two jugs 2.5. + 2.5 = 5. 
So this answer was awarded B1 S2 B1 OC0.
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Sticky Note

This is a fully correct answer and has a title too. However, no extra credit is given for this. B3
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Sticky Note

The bars are not all the same width so the third B mark cannot be awarded despite them being the correct height.










11. Raji chooses one number at random from this list of numbers. 4

2@ g 8 o A 4 [16] 55 20

On the probability scale below, mark the points A, B and C w\he_re—a:/9 )@ /[
O

* Als the probability of Raji choosing an even number

= Bis the probability of Raji choosing a number greater than 8 — > e e o

* Cis the probability of Raji choosing a square number.

C b A

X/l
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2@ g 8 o A 4 [16] 55 20

On the probability scale below, mark the points A, B and C w\he_re—a:/9 )@ /[
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* Als the probability of Raji choosing an even number

= Bis the probability of Raji choosing a number greater than 8 — > e e o

* Cis the probability of Raji choosing a square number.
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Sticky Note

Q11 This candidate marked the relevant numbers for A, B and C in the given list. This helped them work out the probability for each event. Consequently, this is a fully correct answer and gained B1 B1 B1.
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On the probability scale below, mark the points A, B and C where:
A is the probability of Raji choosing an even number

B is the probability of Raji choosing a number greater than 8

C is the probability of Raji choosing a square number.
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On the probability scale below, mark the points A, B and C where:
A is the probability of Raji choosing an even number

B is the probability of Raji choosing a number greater than 8

C is the probability of Raji choosing a square number.
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Sticky Note

Q11 There are still many candidates who want to give word answers in a question which asks for probabilities. Answers like certain, unlikely, ... are appropriate only in questions asking for the chance of an event happening. However, marks would have been awarded if any of A, B or C had been placed in the correct position. So B0 B0 B0.










11. Raji chooses one number at random from this list of numbers.
2, 4 6 8 10, 12, 14, 16, 18, 20

On the probability scale below, mark the points A, B and C where:
« Ais the probability of Raji choosing an even number
* Bis the probability of Raji choosing a number greater than 8
* Cis the probability of Raji choosing a square number.
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11. Raji chooses one number at random from this list of numbers.
2, 4 6 8 10, 12, 14, 16, 18, 20

On the probability scale below, mark the points A, B and C where:
« Ais the probability of Raji choosing an even number
* Bis the probability of Raji choosing a number greater than 8
* Cis the probability of Raji choosing a square number.
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Sticky Note

Q11 This candidate has the correct answers for A and B. However, the answer for C should be 2/10  and not 1/10. Anyway, the candidate has wrongly marked their probability for C on the scale. So B1 B1 B0.
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How many small rectangles will fit exactly into the large rectangle?
The small rectangles must not overlap and there must be no space left.
You must show all your working. [3+10C]
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How many small rectangles will fit exactly into the large rectangle?
The small rectangles must not overlap and there must be no space left.
You must show all your working. [3+10C]
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Sticky Note

This correct answer is awarded full marks. B1 M1 A1 OC1










11.

Bl
Bl
Bl

A marked at 1
B marked at 0-6 (accept 0-55 to 0-65 exclusive)
C marked at 0-2 (accept 0-15 to 0-25 exclusive)











10. 4000 ml = 4 litres B1 | Seen or implied in working
OR 2.5 litres = 2500 ml
OR 17 litres = 17000 ml

A complete and correct strategy that leads to the | S2 | The numbers of jugs/buckets may be seen or implied e.g.

correct answer, e.g. 3 x4 +2x2.5=17 4+4+4+4+25(=18.5)

OR Allow use of ‘their 2500 ml’ or ‘their 4 litres’ or ‘their 17000

Strategy to test at least two different ml’

combinations of jugs and buckets,

eg.4+4+25and4+25+25 S1 for one combination of jugs and buckets

OR OR one combination of tank and jugs/buckets

Strategy to test at least two different . .

combinations of tank and jugs (or buckets), OR a multiple of jugs or buckets

e.g.17-25-25and 17— 4 -4 Each .mlxed strategy much include at least one of each

OR container.

At least one of each strategy.

Number of buckets = 3 AND number of jugs=2 | B1 | caO
Must be from a correct 4 litre or 2500 ml AND 17000 ml.
Crossed-out working can be included in consideration of
strategies.
An unsupported answer of
buckets = 3 AND jugs = 2 gains 4 marks

Organisation and Communication OC1 | For OC1, candidates will be expected to:

The steps of the answer must be labelled so that
it is clear what the calculations are working out.
No final conclusion is necessary as there is an
answer space.

e present their response in a structured way

e explain to the reader what they are doing at each
step of their response

e lay out their explanation and working in a way that
is clear and logical

e write a conclusion that draws together their results
and explains what their answer means











